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Note : This paper is of sixty (60) marks containing three 

(03) sections A, B and C. Learners are required to 

attempt the questions contained in these sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= lkB ¼60½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‗A‘ contains four (04) long answer type 

questions of fifteen (15) marks each. Learners are 

required to answer two (02) questions only. 

uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, iUnzg ¼15½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 
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1. What is Cost Accounting ? Discuss the main 

characteristics of an Ideal Cost Accounting system.  

ykxr ys[kkadu D;k gS \ ,d vkn’kZ ykxr ys[kkadu iz.kkyh 

dh eq[; fo’ks”krkvksa dh O;k[;k dhft,A 

2. What do you understand by Marginal Cost System ? 

Explain its usefulness as a tool for corporate decisions. 

Also explain the limitations of Marginal Costing 

System. 

lhekUr ykxr i)fr ls vki D;k le>rs gSa \ dEiuh 

fu.kZ;ksa esa ;U= ds :i esa bldh mi;ksfxrk dh O;k[;k 

dhft,A lhekUr ykxr i)fr dh lhekvksa dh Hkh O;k[;k 

dhft,A 

3. Standard Mix for production of ‗X‘ : 

‗A‘ 60 tons @ ` 50 per ton. 

‗B‘ 40 tons @ ` 100 per ton. 

Actual mixture being : 

‗A‘ 80 tons @ 40 per ton. 

‗B‘ 70 tons @ ` 80 per ton 

Analyse material variances including mix variance. 

^,Dl* mRiknu dk izeki feJ.k % 

^v* 60 Vu izfr Vu ` 50 dh nj ls 

^c* 40 Vu izfr Vu ` 100 dh nj ls  

okLrfod feJ.k gqvk % 

^v* 80 Vu izfr Vu ` 40 dh nj ls 

^c* 70 Vu izfr Vu ` 80 dh nj ls  

lkexh ykxr fopyuksa dk lkexzh feJ.k lfgr fo’ys”k.k 

dhft,A 



 [ 3 ]  BC–08 

A-44 P. T. O. 

4. From the following particulars prepare : 

(i) Statement of Cost and Profit 

(ii) Profit & Loss A/c 

(iii) Rconciliation Statement 

    ` 

Opening Stock of Raw materials  12,000 

Purchases of Raw Materials  72,000 

Wages 30,000 

Closing Stock of Raw Materials  18,000 

Opening Stock of Finished goods 24,000 

Closing stock of Finished goods 6,000 

Calculate factory overhead at 20% of wages and office 

overhead @ 10% of works cost. 

The actual works cost amounted to ` 4,000 and actual 

office expenses amounted to ` 12,000. 20% profit on 

selling price has to be realised. 

fuEukafdr fooj.kksa ls RkS;kj dhft, % 

(i) ykxr fooj.k ,oa ykHk 

(ii) ykHk&gkfu [kkrk 

(iii) lek/kku fooj.k i= 

        ` 

dPph lkexzh dk izkjfEHkd LVkWd 12,000 

dPph lkexzh dk Ø; 72,000 

etnwjh 30,000 
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dPph lkexzh dk vafre LVkWd 18,000 

fufeZr eky dk izkjfEHkd LVkWd 24,000 

fufeZr eky dk vafre LVkWd 6,000 

dkj[kkuk mifjO;; etnwjh dk 20% rFkk dk;kZy;h 

mifjO;; dkj[kkuk ykxr dk 10% dh x.kuk dhft,A 

okLrfod dkj[kkuk O;; ` 4]000 rFkk okLrfod dk;kZy;h 

O;; ` 12]000 FkkA foØ; ewY; ij 20% ykHk ysuk gSA 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‗B‘ contains eight (08) short answer type 

questions of five (05) marks each. Learners are 

required to answer four (04) questions only. 

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, ik¡p ¼05½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA  

1. Discuss the five differences between Cost Accounts 

and Financial Accounts. 

ykxr ys[ks rFkk foŸkh; ys[ks ds ik¡p vUrjksa dks crkb;sA 

2. What is ABC analysis ? 

,- ch- lh- fo’ys”k.k D;k gS \ 

3. Differentiate between direct labour and indirect labour. 

izR;{k Je ,oa vizR;{k Je esa vUrj dhft,A 
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4. Give classification of overheads. 

mifjO;;ksa dk oxhZdj.k dhft,A 

5. How would you value the following items ? 

(i) Valuation of Cost of goods sold 

(ii) Valuation of Work-in-Progress (W. I. P.) 

fuEufyf[kr enksa dk ewY;kadu vki dSls djsaxs \ 

(i) csps x;s eky dh ykxr dk ewY;kadu 

(ii) pkyw@v)ZfufeZr dk;Z dk ewY;kadu 

6. What is labour efficiency variance ? 

Je n{krk fopj.k D;k gS \ 

7. What do you understand by Normal and Abnormal 

Wastage ? 

lkekU; ,oa vlkekU; {k; ls vki D;k le>rs gSa \ 

8. What is work-in-progress ? How is it shown in 

Contract Account and Balance Sheet ? 

fØ;ek.k@v/kZfufeZr dk;Z D;k gS \ bls Bsdk [kkrk rFkk fPkës 

esa fdl izdkj fn[kk;k tkrk gSa \ 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‗C‘ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this section are compulsory. 
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uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy,  ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

State, whether the following statements are True or False. 

bafxr dhft, fd fuEufyf[kr esa ls dkSu lk dFku lR; gS vFkok 

vlR;A 

1. Prime Cost + Overheads = Total Cost. 

ewy ykxr $ mifjO;; = dqy ykxrA 

2. Loss on Sale of Assets is not shown in Cost 

Accounting. 

lEifŸk dh fcØh ij gksus okyh gkfu dks ykxr ys[kkadu esa 

ugha fn[kk;k tkrk gSA 

3. Tender price is based on previous expenses. 

fufonk ewY; xr O;;ksa ij vk/kkfjr gksrk gSA 

4. Generally if the work certified is less than th of the 

Total Contract price, then profit is not calculated 

thereon. 

;fn izekf.kr dk;Z dqy Bsds ds ewY; ds 
1

4
ls de gks] rks 

lkekU;r% ykHk dh x.kuk ugha dh tkrh gSaA 

5. Passenger-km and Tonne-km are the examples of 

simple units. 

;k=h&fdeh- rFkk Vu&fdeh- ljy bdkbZ ds mnkgj.k gaSA 

6. Write down the formula calculating material cost 

variance. 

lkexzh ykxr fopj.k dh x.kuk dk lw= fyf[k,A 
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Choose the correct alternative. 

lgh fodYi pqfu;sA 

7. Income from investments is recorded in : 

(a) Financial Accounts only 

(b) Cost Accounts only 

(c) Both Financial and Cost A/c 

(d) None of these 

fofu;ksxksa ls izkIr vk; dks fuEufyf[kr esa ls fdlesa fy[kk 

tkrk gS \ 

¼v½ ek= foŸkh; ys[kksa esa 

¼c½ ek= ykxr ys[kksa esa 

¼l½ ykxr o foŸkh; nksuksa esa 

¼n½ buesa ls dksbZ Hkh ugha 

8. The Father of Differential Piece rate system of wage 

is : 

(a) Emerson 

(b) Halsey 

(c) Gantt 

(d) Taylor 

fHkUu dk;kZuqlkj etnwjh nj i)fr ds tUenkrk gSa % 

¼v½ bejlu 

¼c½ gkYls 

¼l½ xS.V 

¼n½ Vsyj 
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Fill in the blanks : 

fjDr LFkkuksa dh iwfrZ dhft, % 

9. Prime Cost is also known as .................... 

ewy ykxr dks 
------------------

 ds uke ls Hkh tkuk tkrk gSA 

10. Standard Cost is ............ 

ekud ykxr 
------------

 gksrh gSA 
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